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4
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2

6 = D

Tambora - thumb stiking bass strings near 
the bridge, creating a sound like a kick drum

0
0
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
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arr. Brad Richter
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      
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13

     

13      
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
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
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 







3 1

3

3 2 1 0

3 2

slapping RH across all six 
strings over the sound hole 
(snare drum-like sound)

2     

   
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3 2

0

3

3
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   

     

     






 


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16
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

2
0

strumming with 'm'
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
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
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
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


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          

          

   


    



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   
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   


    



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25    

25

     

25      
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




 







Tambora

    

   

    

      






 







     

   

     

     






 








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





L7

L1

L3+

L4+

L6+

28     

28

   

28

    

28

      

28






 













      


 


 


 

4

(fret XI slidng back to II)

5
(fret XII sliding down to open)







   

 


       3 2
0 2
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





L7

L1

L3+

L4+

L6+

31



31



31



31

      

31


 


 


 







      

 


       

2 3 0





      

      


 


 


 





      

      

 


       

0











L7

L1

L3+

L4+

L6+

35   
  

  


35



35

      

35

      

35


 


 


 

0

2
2 1

 


 
     



      

      

 


       

4 2 1

4 2 1

23   


   
  



          

          







 







2 3
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
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





L7

L1

L3+

L4+

L6+

38


   

  


 

38



38

          

38

          
38







 







4  
  


 








         

         







 







4











L7

L1

L3+

L4+

L6+

40
  


   

  

40    

40           

40

          
40






 







1

0


   

  

 

   

          

          






 







1

 
  


 





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